)ﬁSTOVAX

ONLINE SPARES SHOP

X stovaxspares.com/appliance/stoves/integral-boilers/stockton-boiler-stoves/stockton-14-boilers/serial-

Mb x 20 HEX HEAD

MG MUT
1
MG NUT
-
- -
\_M(: X 20 HEX
HD SCREW
19)
20)

e

M6 X CAP HEAD S{'I{EW/ MBI N

M6 X 10 SPRING WASHER
M6 x 70 COACHBOL 1'—/

21)

Read More

Ref. Product Code Description

1/8

www.pieces-de-poele.com


https://www.stovaxspares.com/appliance/stoves/integral-boilers/stockton-boiler-stoves/stockton-14-boilers/serial-numbers-starting-bst/stockton-14-high-output-boiler/
https://www.stovaxspares.com/product/na-carcass-2/

Ref.

10

11

12

13

Product Code

MEC7891

RVPX-CA7588

ST14-CA7586

ST14-CA7504

ST14-CA7493

ST14-CA7494

ST14-CA7495

ST14-CA7496

ST14-MEC8829

Description

Stockton Hinge Block

Stockton Door Hinge Pin

Stockton 14 HB Boiler Mk1
Complete Double Door
Assembly

Stockton Door Tool

M12 x 35mm Hinge Block
Stud - Single Stud

Stockton 8/11//Riva
Plus/County/Devon HB
Riddling Socket

Stockton 14/County 80HB
CE Boiler Riddling Bar

Stockton 14/County 80HB
CE Boiler Back Riddling Bar

Stockton 14 HB Boiler Left
Hand Riddling Grate Infill

Stockton 14 HB Boiler Right
Hand Riddling Grate Infill

Stockton 14/County 80HB
CE Boiler Grate Bar - Fixed

Stockton 14/County 80HB
CE Grate Bar - Moving

Stockton 14/County 80HB
Mk1 Boiler Mk1 Lower
Baffle Plate

www.pieces-de-poele.com

2/8


https://www.stovaxspares.com/product/hinge-block-4/
https://www.stovaxspares.com/product/hinge-pin-3/
https://www.stovaxspares.com/product/doors-assembly/
https://www.stovaxspares.com/product/door-tool/
https://www.stovaxspares.com/product/m12x35mm-hinge-block-stud-single-stud/
https://www.stovaxspares.com/product/riddling-socket-2/
https://www.stovaxspares.com/product/mf-riddling-grate-cam-bar/
https://www.stovaxspares.com/product/back-riddling-bar-6/
https://www.stovaxspares.com/product/mf-rid-grate-lh-infill/
https://www.stovaxspares.com/product/mf-rid-grate-rhs-infill/
https://www.stovaxspares.com/product/grate-bar-fixed-2/
https://www.stovaxspares.com/product/grate-bar-moving-2/
https://www.stovaxspares.com/product/low-baffle-assembly/

Ref.

14

15

16

17

18

19

20

21

22

23

24

25

Product Code

RA501326

MEC7886

MEC7900

ME501805

ME501806

N/A Carcass

ST14-MEC8170

ST14-CA7354

ST8-MEC8158

ST8-MEC8159

Description

Stockton 14 HB Boiler Mk1
Airwash Deflector Plate

Stockton 14 HB Boiler Mk1
Airwash Control Chamber

Stockton 14 HB Boiler Mk1
Airwash Slider

Stockton 7/8/11/14 HB
Boiler Mk1 6" Flue Adapter

Stockton 7/8/11/14
HB/View 8/CL8 Mk1 6in
Blanking Plate

Stockton 8/County/Devon
HB/CL7 Inset Boiler Mk1
Thermostat Blanking Plate

Stockton/County/Devon
HB/CL7 Inset Boiler Mk1
Thermostat Blanking Bar

Welded Carcass Assembly This part is not
serviceable and
cannot be ordered

as a spare.

Stockton 14 HB Boiler Mk1
Ashpan

Stockton 14 HB Boiler Log
Guard

Stockton/County/Devon HB
Boiler Riddling Tool

Stockton HB/County
60/80HB/Devon 50HB
Ashpan Tool

www.pieces-de-poele.com

3/8


https://www.stovaxspares.com/product/secondary-air-deflector/
https://www.stovaxspares.com/product/secondary-air-duct-assy/
https://www.stovaxspares.com/product/air-slide-assembly/
https://www.stovaxspares.com/product/6-flue-collar-3/
https://www.stovaxspares.com/product/6-flue-blanking-plate/
https://www.stovaxspares.com/product/thermostat-blanking-plate/
https://www.stovaxspares.com/product/thermostat-blanking-bar/
https://www.stovaxspares.com/product/na-carcass-2/
https://www.stovaxspares.com/product/ash-pan-assembly/
https://www.stovaxspares.com/product/log-guard-15/
https://www.stovaxspares.com/product/riddling-tool-assy/
https://www.stovaxspares.com/product/ash-pan-tool-assy/

Ref. Product Code

4951

M0620HHS

MO6NUTO

MO6WASHPEN

Drawing: PR8694

Description

10mm x 2mm Self Adhesive
Tape Seal - 2m Pack

M6 x 20mm Hex Head
Screw - Single Screw
4 Required Per Stove

M6 Nut - Single Nut
4 Required Per Stove

M6 Penny Washer - Single
Washer
4 Required Per Stove

Do you have the correct appliance?

Before ordering your parts please ensure you have selected the correct appliance. To
properly identify your appliance you will need to know your serial number and/or model
number. Please use the following guide to help locate your data badge which contains

your serial and model number information.

www.pieces-de-poele.com

4/8


https://www.stovaxspares.com/product/10x2mm-black-insulation-tape-pack/
https://www.stovaxspares.com/product/m6x20mm-hex-head-single-screw-for-flue-collar/
https://www.stovaxspares.com/product/single-nut-for-blanking-plate-m6/
https://www.stovaxspares.com/product/single-washer-for-blanking-plate-m6/
https://www.stovaxspares.com/find-your-databadge/

Read MoreRead More

Product
Ref. Code Description
1 SM2.23 Stockton Door Tool
[
2 SL2.3RH Stockton 11 Right Hand Air Control
Cover Plate with Logo
3 N/A For Complete Two Door Assembly This part is not
see Main Assembly page currently available.
4 SL2.3LH Stockton 11 Left Hand Air Control
Cover Plate
5 SM4sD Stockton 8 Double Sided/14 HB

Boiler Mk1 Air Control Slider

5/8

www.pieces-de-poele.com


https://www.stovaxspares.com/product/na/
https://www.stovaxspares.com/product/na/
https://www.stovaxspares.com/product/door-tool/
https://www.stovaxspares.com/product/sl2-3rh/
https://www.stovaxspares.com/product/na/
https://www.stovaxspares.com/product/sl2-3lh/
https://www.stovaxspares.com/product/air-control-3/

Product
Ref. Code Description

6 GL0267 Stockton 14 Door Glass - Single
Piece
Dimensions: 272x343x4mm

7 SM16 Stockton Glass Clip
b g )
8 SM29 | M5 x 8mm Machine Screw - Single
g Screw
9 SL2.16 Stockton 11/14 Long Glass Clip
10 N/A For Complete Two Door Assembly This part is not
see Main Assembly page currently available.
11 SL2.17 Stockton 11/14 HB Boiler Mk1 Door

PZ' Spindle and Catch Assembly

12 SM2.7 Stockton 5 Wide/8/11/14 Door Knob
13  YM- 3mm x 18mm Spiral Pin - Single Pin
F00004
14 FA9017 Airwash Spinner Spring
FA9065 Slider Spring

5000 E!S - 14mm Door Rope Seal with
Lﬁ Adhesive - 2m Pack
4975 3mm Glass Rope Seal with Adhesive

-2m Pack

6/8

www.pieces-de-poele.com


https://www.stovaxspares.com/product/door-glass-20/
https://www.stovaxspares.com/product/glass-clip-3/
https://www.stovaxspares.com/product/m5x8mm-machine-screw-single-screw/
https://www.stovaxspares.com/product/glass-clip-4/
https://www.stovaxspares.com/product/na/
https://www.stovaxspares.com/product/door-spindle-3/
https://www.stovaxspares.com/product/door-knob-3/
https://www.stovaxspares.com/product/3x20mm-spirol-pin-single-pin/
https://www.stovaxspares.com/product/spring/
https://www.stovaxspares.com/product/slider-spring-2/
https://www.stovaxspares.com/product/14mm-door-rope-seal-pack-black/
https://www.stovaxspares.com/product/glass-rope-3mm-rope-seal-pack-black/

Product
Ref. Code Description

4951 10mm x 2mm Self Adhesive Tape
Seal - 2m Pack

Do you have the correct appliance?

Before ordering your parts please ensure you have selected the correct appliance. To
properly identify your appliance you will need to know your serial number and/or model
number. Please use the following guide to help locate your data badge which contains

your serial and model number information.

Product
Ref. Code Description
7314WT Stockton 14 HB Boiler Mk1 Woodburning

Tray
To achieve the highest efficiency when
burning wood only.

Drawing: PR9698

Do you have the correct appliance?
7/8

www.pieces-de-poele.com


https://www.stovaxspares.com/product/10x2mm-black-insulation-tape-pack/
https://www.stovaxspares.com/find-your-databadge/
https://www.stovaxspares.com/product/7314wt/

Before ordering your parts please ensure you have selected the correct appliance. To
properly identify your appliance you will need to know your serial number and/or model
number. Please use the following guide to help locate your data badge which contains
your serial and model number information.

8/8

www.pieces-de-poele.com


https://www.stovaxspares.com/find-your-databadge/



